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Name

/

11

.

1.

13.

15.

17.

19.

5y + 2y - (- 3y)
= By + 2y + dy

= 10y

7x - 2Xx

. —7y~-5y

. —4w - 13w

.6h+h

. 3x 4+ 4x-2x

5x2 — 3x2 — 7x2

3a+ 5a

- 5ab - 2ab + 9ab

- 502 - 4a? + 3a? + 2a*

Simplify each expression by combining like terms.

2.

10.

12,

14,

16.

18.

20.

Combining like term

7y + 2y

. -5b+2b

10a - 3a

. =9y + 15y

7R — (- k)

9y -7y -4y

am? + 7m3 - 15m3

~5y2 = 13y2 + 10y?

9xy - (- 2xy) — 4xy

15a2b + 6a2b - 12a2b - 9a%b

\
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Combining like terms
answers
Simplify each expression by combining like terms.

1.

11,

13.

15,

17,

19,

S5y +2y = (~3y)
= 10y

. Tx=2x

= Bx

. =7y=5y

= —12y

— 4w - 13w
= —17w

.6h+h

= 7h

3x+4x~2x
= Bx

5x% - 3x% — 7x2

= — B

3a + 5a
= &a

—5ab - 2ab + 9ab
= 2ab

- 5a% - 4a* + 3a® + 2a?
= —43°

2.

10.

12,

14.

16.

18.

20.

. =9y 4+ 15y

= 6y

7R-(-R)

= Bk

Oy —7y-4y
= —2y

am3 + 7m3 - 15m3

= —5nr

~5y2 - 13y? + 10y2
= — By

9xy — (- 2xy) — 4xy
= 7xy

15a2b + 6a%b — 12a%b - 9a2b

=0




ﬁ Name DDDD*D\

Combining like terms\
Simplify each expression by combining like terms. D
1. x+3+5x-8 2. 3b+4b+7-3 3
= x+bBx+3-8 3
= 6x-5 R
3.3a-a+5-6 4. 4a-7a+10-15 [
5. 3y +4y-9w + 2w 6. 3p-p+5-6
7. 3y~4y—-7z+ 52 8. x2+3x2-8-6
9. 3a~5ad + 5¢c - 8¢ 10. 3p+2+5p
11, -9x+w+3x 12. -2a+3-5a
13. 3x+2+4x+7 14. 9x+7x+2+9
15. 3a~5b-9a-7b 16. —2a-(-5b)-(-6a)-9a
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Combining like terms

answers

Simplify each expression by combining like terms.

l. x+3+5x-8
=z 6x—-5

3. 3a~-a+5-6

= 2a-1

5. 3y +4y-9w + 2w
= 7y—7w

7. 3y-4y -7z + 5z
= ~2z-y

9. 3a-5ad +5c-8¢
= 3a—bad- 3¢

j -9% +w+3x

= —OX+ W

13, 3x+2+4x+7
= 7X+9

15. 3a-5b-%a-7b
= —6a-12b

38a

@3b+4b+7—3

= 7b+4

4. 4a-7a+10-15

= —3a-b
K%js _p+15-16
= 2p-1

8. x2+3x2-8-6
= 4% -14

10, 3p +2+5p

= 8P+2

ffh —-2a+3-5a

LN

= ~734+3

14. 9x+7x+2+9
= 16x+ 1

16. -2a-(-5b)-(-6a)-9a
= —ba+b5b




Name

Yeird¥Ve

s

-

11.

—-3a+6b-c-2a+3b+4c
= ~Ba-2a+6b+3b~c+ 4c
= -Ba+9b+ 3¢

L x2-2x-3x2-x

1-2t+3-3t-7

aZ+7a-6+5a%2-4a-10

.2m+4n-(-R+m-2n-3k

6-9m—(-12) + 10m = (- 5m)

Simplify each expression by combining like terms.

1. 2.

10.

12.

Combining like terms\

2p-3r=-5p-2r

. 2x2 —y? = 3x2 4 52

4b—-3c+5+2b

2a+b-a+b

6a2b — 4a%b + 9ab? — 3ab?

3-4t-25—(-5)-(-2t)-9s

<€

Ccvel
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Combining like terms
answers

Simplify each expression by combining like terms.

1. —3a+6b-c-2a+3b+4c
= —HBa+9b+ 3¢

3. x2-2x-3x%-x

= —2x2 — Bx

5. 1-2t+3-3t-7
= -3-56¢t

7. a2 +7a-6+5a2-4a-10

= 6a°+ 3a—-16

\2m+4n-(—R)+m-2n-3k
= 3m+ 2n— 2k

2

“11) 6 —9m ~ (= 12) + 10m — (- 5m)

'/.

= 18 4+ 6m

2,

4,

2p=3r-5p=-2r
= —5p—5r

2x2 - y2 - 3x2 + 5y2

= —x2+4y2

(6)4!) —3c+5+2b

10.

12,

= 6b-3¢c+5

6a2b — 4a2b + 9ab? - 3ab?
= 2ab + Gab?

3-4t-25-(-5)-(-2t)-9s
= &-2t-1s



